Kinetic Energy

Use the equation EK = ½ mv2 to calculate the following. 

1. What is the kinetic energy of a 800 kg car that is travelling at 14 m.s-1?

2. What is the kinetic energy of a 1600 kg vehicle that is travelling at 14 m.s-1?

3. What is the kinetic energy of a 800 kg car that is travelling at 28 m.s-1?

4. Which has a bigger effect on kinetic energy, doubling the mass or doubling the velocity?

5. What is the kinetic energy of a 65 kg person walking at a speed of 6 km.h-1?

6. A 70 kg sprinter completes a 100 m race in 12 s. What is their kinetic energy?

7. A person riding a scooter has a kinetic energy of 7200 J (for the person and the scooter). 

a. If the person and the scooter have a combined mass of 100kg, what is their velocity? 

b. If the person’s mass is 60 kg, what is the kinetic energy of the person?

8. What is the velocity of a 0.2 kg mass with a kinetic energy of 2.5 J?

9. What is the mass of an object with a kinetic energy of 840 J and a velocity of 20 m.s-1?

10. An electron (9.11 x 10-31 kg) is travelling at a velocity of 2400 m.s-1. What is its kinetic energy?
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